BEEAE A B 12024405 H25H (1)

5 H i A Bl

H7TH :2024.5.25 17:38

7 Nk AN T HEMES0.0 £0PE30.0
RS WIREA ST U NT
EH=a—2A 2PN S HEMEII9ON ELLA AEFISOA
NEATRTE YL - = —AINet N T 4 HEHFEHH
BGL | N K4 OUT IN |GROSS| HDCP | NET | crosshf: % BT | BInFE K4 OUT IN |GROSS| HDCP | NET |crosshsif: e
AT 50 44 94/ 29.0 |65.0 80 51|72 49 51| 100[26.0 | 74.0 102
eS| L B 42 45 87/ 21.0 |66.0 41 52| | i A] 44 44 88/ 14.0 |74.0 47
SURE Bl 43 46 89(23.0 |66.0 53 53|y HE 47 47 94/ 20.0 | 74.0 80
41k &5 36 37 73] 7.0 [66.0 1 b4 | Bfp yE— 42 40 82| 8.0 |74.0 12
5| ARl ASUE 40 43 83/ 16.0 |67.0 17 55| %7 H B 44 42 86| 12.0 | 74.0 35
6/ E R 41 38 79/ 11.0 |68.0 8 56 | #ALH A — 50 48 98] 24.0 | 74.0 97
T FE— 45 38 83/ 15.0 |68.0 17 57 /IR =% 50 44 94/ 20.0 | 74.0 80
8| RH ik 41 44 85| 16.0 | 69.0 27 58 HF 1% 39 44 83| 8.0 |75.0 17
9 | Bk 43 46 89120.0 |69.0 53 59| Fk 40 45 85/ 10.0 | 75.0 27
10| _EHH R 40 42 82| 13.0 |69.0 12 60| HF (EHE 41 44 85/10.0 | 75.0 27
11| K¥ & 38 39 77 8.0 [69.0 5 61 7KE #1H 43 46 89/ 14.0 | 75.0 53
12776 —BR 45 46 91]22.0 |69.0 66 62| K¥ JE 42 44 86/ 11.0 | 75.0 35
13| AW HE— 37 37 74| 5.0 [69.0 2 63 FAAR 4 45 47 92/17.0 | 75.0 70
14|/H%y B 44 43 87/18.0 [69.0 41 64 AR 46 48 94|/ 19.0 | 75.0 80
15| AR5 F5 KAR 47 46 93/24.0 |69.0 76 65| %% &5 42 41 83| 8.0 |75.0 17
16|57 H Z 43 41 84| 15.0 |69.0 22 66 | @R Gk 43 40 83| 8.0 |75.0 17
17| SEA 41 37 78/ 9.0 [69.0 7 67| KB FisE 45 39 84| 9.0 |75.0 22
18| E E£— 43 39 82/13.0 [69.0 12 68| ILIA 754 40 50 90| 14.0 | 76.0 60
19 8H 52 40 45 85/ 15.0 |70.0 27 69 [ FiA ¥F 46 54 100/24.0 |76.0 102
20 fEH E— 40 44 84|14.0 [70.0 22 70| F g e fd 40 45 85| 9.0 |76.0 27
21 | Ak 3 44 48 92/22.0 |70.0 70 T1AMRH BN 41 41 82| 6.0 176.0 12
22| =K RRE 36 39 75| 5.0 | 70.0 3 72| ZE 45 45 90| 14.0 | 76.0 60
23| EF FF— 43 45 88/18.0 |70.0 47 13| EhE k] 43 41 84| 8.0 |76.0 22
24 |)IIF) 3% 49 51| 100]/30.0 | 70.0 102 T4\ E HE 47 45 92/ 16.0 | 76.0 70
2B HFA B2 48 49 97127.0 [70.0 94 75| A A 50 48 98/22.0 |76.0 97
26| 7H7E BA 44 44 88| 18.0 | 70.0 47 76| {(FEE BHIT 42 51 93/ 16.0 | 77.0 76
27 HY fa 42 40 82| 12.0 [70.0 12 77 RKGR IERS 43 49 92/ 15.0 | 77.0 70
28 | 49 46 95(25.0 | 70.0 88 T8 1T i 50 52| 102/ 25.0 | 77.0 110
29| EikE AEIRER 42 38 80/ 10.0 | 70.0 9 79 fK  FUER 49 50 99]22.0 | 77.0 100
30| =G —H 42 44 86/15.0 | 71.0 35 80| It 43 43 86/ 9.0 | 77.0 35
31 fEH mEX 38 38 76| 5.0 |71.0 4 81| &5 44 44 88/ 11.0 | 77.0 47
32|BXH BEfF 39 38 77] 6.0 [ 71.0 5 82| HA JIE— 45 45 90]13.0 |77.0 60
33K mE 46 44 90/ 19.0 | 71.0 60 83|HLH % 50 50/ 100]23.0 | 77.0 102
34|k H £ 46 42 88/17.0 | 71.0 47 84|\ K &HA 50 47 97/20.0 | 77.0 94
35| 2% Wi=E 41 50 91119.0 [ 72.0 66 85| Iy E—Hp 49 45 94]17.0 | 77.0 80
36| AR H K2 43 46 89| 17.0 [72.0 53 86| [ WHE 48 43 91]14.0 |77.0 66
37|\ EHA BE— 42 43 85| 13.0 | 72.0 27 87|WTH FEML 40 47 87/ 9.0 | 78.0 41
38| [Lilr FE— 43 43 86/14.0 | 72.0 35 88| ¥ ZIE 49 54| 103/ 25.0 | 78.0 112
39| [LkF K 49 47 96| 24.0 | 72.0 92 89piH BE 42 45 87| 9.0 |78.0 41
40 AR BZ 46 43 89/ 17.0 | 72.0 53 90 | FijH 5L 46 48 94| 16.0 | 78.0 80
41|87 H 58 45 41 86| 14.0 | 72.0 35 91 A 1EZ 46 48 94/ 16.0 | 78.0 80
42\ W KIr 43 49 92]119.0 [73.0 70 92|fE 2 A SLHH 46 47 93/ 15.0 |78.0 76
43 TR HEE 41 44 85| 12.0 | 73.0 27 93| H W K 46 43 89/ 11.0 | 78.0 53
44 )N F ke 42 43 85| 12.0 [ 73.0 27 94 |FEH Fhth 52 45 97/19.0 |78.0 94
45| s 48 47 95/22.0 | 73.0 88 95| [ YRER 45 44 89/ 10.0 | 79.0 53
EEEE: 47 43 90| 17.0 | 73.0 60 96 |fEK FA 43 41 84| 5.0 179.0 22
4791 B A 45 53 98] 24.0 | 74.0 97 97 || F— 49 46 95/16.0 | 79.0 88
48|50 B 5 37 44 81| 7.0 [74.0 11 98 M EAX 54 51| 105/26.0 |79.0 114
49| W IEM 45 48 93/ 19.0 | 74.0 76 99 | ARME FH 49 52/ 101/ 21.0 |80.0 108
50 ik BEC 49 51 100]26.0 | 74.0 102 1005t {88 53 53| 106/ 26.0 |80.0 117
1/ 2 galuho ) —H50



BEEAE A B 12024405 H25H (1)

5 H i A Bl

H7TH :2024.5.25 17:38

S R 1.0 AN T HEMES0.0 £0PE30.0
ik aRis TR NT
i =—=2  :0UT IN ZINNE S HEMEII9ON ELLA AEFISOA
NEATRTE YL - = —AINet N T 4 HEHFEHH
BGL | N K4 OUT IN |GROSS| HDCP | NET | crosshf: it BT | BInFE K4 OUT IN |GROSS| HDCP | NET |crosshsif: e
101 | Pa ] fH— 46 45 91/11.0 | 80.0 66
10211 Jeth, 53 52|  105|25.0 |80.0 114
103 A0 i — 51 49 100]20.0 [80.0 102
104 |19 @k 45 42 87| 7.0 180.0 41
105714k 72 45 47 92/11.0 | 81.0 70
106 JI#T 717& 43 44 87| 6.0 |81.0 41
107 |50 B 47 43 90| 9.0 |81.0 60
108 [#EA R 3L 50 45 95/14.0 | 81.0 88
109 | Pa AR Bt 46 56/ 102]/20.0 |82.0 110
110 7t 1 Bl 38 42 80| -2.0 |82.0 9
1A EE 47 49 96/ 14.0 |82.0 92
112/l & 53 55| 108]26.0 |82.0 120
1137 H fH+ 47 54| 101]18.0 |83.0 108
114 AW [5Z 50 57| 107]24.0 [83.0 119
115 B8 Mk 42 46 88| 5.0 [83.0 47
116 HES s 51 55| 106/23.0 |83.0 117
L1785 H 1F 52 56/ 108]25.0 |83.0 120
118 KB [Ef 56 52| 108/24.0 [84.0 120
119|935k —BA 47 62| 109/24.0 |85.0 123
120114 = 55 56/ 111/26.0 |85.0 124
121G FnZ 45 54 99| 13.0 | 86.0 100
122 |B9 U 52 53| 105/ 19.0 |86.0 114
1232l #k 47 47 94| 8.0 [86.0 80
124 |[FS =I5 52 60 112]24.0 [88.0 125
125 F B 5% 47 56/ 103]13.0 |90.0 112
126 |87 A BT 62 60| 122/30.0 [92.0 126
127 | [ AR P 58 69| 127]26.0 [101.0 127
fit ke KK
A PR KK
R B A RH
2/ 2 gluA M) —H57



